WELL COMPLETION FORM	County GRAHAM E
ACO-1 WELL HISTORY DESCRIPTION OF WELL AND LEASE	S/2 NW - SE-SW Sec. 13 Tup. 9 Rge. 24 XX W
rator: License # 6861	940 Feet from SN (circle one) Line of Section
Name: RON S OIL OPERATIONS, INC.	1526 Feet from E/W (circle one) Line of Section
Address Rt 1 BOX 194	Footages Calculated from Nearest Outside Section Corner: NE, SE, NW or SW (circle one)
PENOKEE KS 67659	Lease Name NICKELSON 13 Well # B-1
City/State/Zip	Field Name HOLLEY SE
chaser:	Producing Formation
erator Contact Person: Ron NICKELSON	Elevation: Ground 2390 KB
Phone (785) 421-2409	Total Depth 3923 PBTD
A & A RRODUCTION	Amount of Surface Pipe Set and Cemented at 252 / 165 x sac
License: 30076	Multiple Stage Cementing Collar Used?Yes _XX _No
lsite Geologist: RON NELSON	If yes, show depth set Feet
signate Type of Completion	If Alternate II completion, cement circulated from
x New Well Re-Entry Workover	feet depth to sx cmt.
OilSWDSIOWTemp. Abd.	- D. A JAD 1/0
	Dritting rivid Management rian / 9// /C///C // //
X Dry Other (Core, WSW, Expl., Cathodic, etc)	(Data must be collected from the Reserve Pit)
X Dry Other (Core, WSW, Expl., Cathodic, etc)	(Data must be collected from the Reserve Pit)
Other (Core, WSW, Expl., Cathodic, etc) Workover/Reentry: Old Well Info as follows:  Operator:	(Data must be collected from the Reserve Pit)  Chloride content
X Dry Other (Core, WSW, Expl., Cathodic, etc)  Workover/Reentry: Old Well Info as follows:  Operator:  Well Name:	Chloride content
X Dry Other (Core, WSW, Expl., Cathodic, etc)  Workover/Reentry: Old Well Info as follows:  Operator:  Well Name: Old Total Depth	(Data must be collected from the Reserve Pit)  Chloride content
X   Dry	Chloride content
Ory Other (Core, WSW, Expl., Cathodic, etc)  Workover/Reentry: Old Well Info as follows:  Operator:  Well Name:  Comp. Date Old Total Depth  Deepening Re-perf Conv. to Inj/SWD	Chloride contentppm Fluid volumebbls  Dewatering method used  Location of fluid disposal if hauled offsite:
X Dry Other (Core, WSW, Expl., Cathodic, etc)  Workover/Reentry: Old Well Info as follows:  Operator:  Well Name:  Comp. Date Old Total Depth  Deepening Re-perf. Conv. to Inj/SWD Plug Back PBTD  Oual Completion Docket No.  Other (SWD or Inj?) Docket No.	Chloride contentppm Fluid volumebbls  Dewatering method used  Location of fluid disposal if hauled offsite:  Operator Name
X Dry Other (Core, WSW, Expl., Cathodic, etc)  Workover/Reentry: Old Well Info as follows:  Operator:  Well Name:  Comp. Date Old Total Depth  Deepening Re-perf. Conv. to Inj/SWD Plug Back PBTD  Commingled Docket No.  Dual Completion Docket No.	Chloride contentppm Fluid volumebbls  Dewatering method used  Location of fluid disposal if hauled offsite:  Operator NameLicense No

All requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Signature	Daniel Mi	Ekelon
Title	President	Date 5-3-01
Subscribed	and sworn to before me thi	S 3rd day of MAY

ate	Comniss	$\mathcal{J}'$ sion Expires $\_$	January	21,	2004
		RITA A. ANDE			

My Appt. Exp. 1-21-04

F Lette	C. OFFICE USE ONL' r of Confidential ine Log Received gist Report Recei	ity Attached
KCC KGS	Distribution SMD/Rep Plug	NGPA Other (Specify)

SIDE TWO

		KAI TONO		FERRE HOME	NICKEL	<u>son 13</u>	- ,		
		П <b></b> -		County	GRAH	AM			
. <u>13</u> Tup. <u>9S</u>	Rge. <u>24</u>	⊠ West							
STRUCTIONS: Show im terval tested, time frostatic pressures, more space is neede	e tool open a bottom hole to	emperature, 1	f formation flowing an fluid recov	ns penetrated. nd shut-in pres ery, and flow ra	Detail all ( sures, wheth ites if gas t	cores. Report : er shut-in pres o surface durin	all drill ssure reac g test. /	stem tests hed static Attach extra	giving level, sheet
ill Stem Tests Taken	1	🛚 Yes	□ No	€ Log	Formation	(Top), Depth a	nd Datums	☐ Sar	nple
(Attach Additional mples Sent to Geolog		☐ <sub>Yes</sub> !	⊠ <sub>No</sub>	⊀ Name		Тор		Datum	
res Taken		☐ Yes !	No No		hydrite			+359	
		🛛 Yes		base An	-	2068		+324	
ectric Log Run (Submit Copy.)		- Yes	□ RO	•	peka ebner	3480 3699		-1088 -1307	
•••					ronto	3726		-1334	
st All E.Logs Run:				LK		3740		-1348	
				Base LK	C	3923	3		
							•		
			NG RECORD	New D	sed				
	T	<del></del>	<del></del>		ntermediate, Setting	Type of	# Sacks	Type and P	ercent
urpose of String	Size Hole Drilled	Size C Set (I	n O.D.)	Weight Lbs./ft.	Depth	Cement 60/40	Used	Additiv	
SURFACE	12 1/4	8	5/8	20	257	POX MIX	165	Ž% ĞEI	<u> </u>
								<u> </u>	
	ADDITIONAL	CEMENT ING/SC	DUEEZE RECO	ORD					
urpose: Perforate	Depth Top Botton	m Type of	Cement	#Sacks Used		Type and Percen	t Additiv	<b>:</b> 8	
Protect Casing Plug Back TD Plug Off Zone		-					···		
PLUS UTT ZUNC	<u> </u>						Samuel S	lage and the banks	ŕd , , , )
	PERFORATION Specify Foots	ON RECORD - age of Each	Bridge Plu Interval P	gs Set/Type erforated	Acid, (Amount an	Fracture, Shot, d Kind of Mater	ial (Used)	ORPORA P.	pth 💮
	PERFORATION Specify Foot	ON RECORD - age of Each	Bridge Plu Interval P	gs Set/Type erforated	Acid, (Amount an	Fracture, Shot, d Kind of Mater	·iel/Used)	CORPORATION	<b>ρτη</b> (* \ •
	PERFORATION Specify Foots	ON RECORD - age of Each	Bridge Plu Interval P	gs Set/Type erforated	Acid, (Amount an	Fracture, Shot, d Kind of Mater	·iel/Used)	ORPORATION MAY 2 1	<b>ρτη</b> (* \ •
	PERFORATIO Specify Footo	ON RECORD - age of Each	Bridge Plu Interval P	gs Set/Type erforated	Acid, (Amount an	Fracture, Shot, d Kind of Mater	·iathused)	MAY 2 1	2091
	PERFORATION Specify Footo	ON RECORD - age of Each	Bridge Plu Interval P	gs Set/Type Perforated	Acid, (Amount an	Fracture, Shot, d Kind of Mater	·iathused)	CORPORATION	2091
Shots Per Foot	PERFORATION Specify Foots	ON RECORD - age of Each	Interval P	gs Set/Type Perforated	Acid, (Amount an	Fracture, Shot, d Kind of Mater	CONSI	MAY 2 1	2091
Shots Per Foot	Specify Footo	age of Each	Interval P	Packer At	(Amount an	d Kind of Mater	CONSI	MAY 2 1	2001 Divi
TUBING RECORD  Date of First, Resum	Size	age of Each	Interval P	Packer At	Liner Run	Yes Cas	CONSI	MAY 2 1  ERVITION	2001 Divi
TUBING RECORD  Date of First, Resum	Size  Size  med Production	Set /	At  At  Gas  ON	Packer At  ucing Method  Mcf Wat	Liner Run  Flowing Per Bbls	Yes Cas	CONSI	MAY 2 1  ERVITION	2001 Divi

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

INVOICE

Invoice Number: 083285

Invoice Date: 01/30/01

Sold Ron's Oil Operations, Inc

To: P. O. Box 112

Penokee, KS

67659

APS 15.048. 22818.00.05

Cust I.D....: Ron's

P.O. Number..: Nickelson

P.O. Date...: 01/30/01

Due Date.: 03/01/01 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	ŤΧ
Common	114.00	SKS	6.3500	723.90	E
pozmix	76.00	SKS	3.2500	247.00	
Ge l	10.00	SKS	9.5000	95.00	
FloSeal	48.00	LBS	1.4000	67.20	
<b>Handling</b>	200.00	SKS	1.0500	210.00	
Mileage (58)	58.00	MILE	8.0000	464.00	- 1
200 sks @\$.04 pe	r sk per mi				_
Plug	1.00	JOB	580.0000	580.00	Ε
Mileage pmp trk	58.00	MILE	3.0000	174.00	E
Plug	1.00	EACH	23.0000	23.00	E
All Prices Are Net	, Payable 30 Days F	ollowing Sub	total:	2584.10	
Date of Invoice. 1	1/2% Charged There	after. Tax	:	0.00	1
	take Discount of §		ments:	0.00	1
ONLY if paid withi	n 30 days from Invo	ice Date Tota	al:	2584 10	ı

CK 2325.69 He 4/142 221.01 ALLIEU CEMENTING CU., INC.

P.O. BOX 31 \_\_\_\_ RUSSELL, Ks 67665 PH (785) 483-3887 FAX (785) 483-5566

INVOICE

Invoice Number: 083285

Invoice Date: 01/30/01

Sold Ron's Oil Operations, Inc

To:

P. O. Box 112

Penokee, KS

67659

APE 15.065-22813-00:00

Cust I.D....: Ron's

P.O. Number..: Nickelson

P.O. Date...: 01/30/01

Due Date.: 03/01/01 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	114.00	SKS	6.3500	723.90	Е
pozmix	76 <b>.00</b>	SKS	3.2500	247.00	E
Ge1	10.00	SKS	9.5000	95.00	E
FloSeal	48.00	LBS	1.4000	67.20	E
Handling	200.00	SKS	1.0500	210.00	Ε
Mileage (58)	58 <b>.00</b>	MILE	8.0000	464.00	E
200 sks @\$.04	per sk per mi				
Plug	1.00	JOB	580.0000	580.00	E
Mileage pmp trk	58.00	MILE	3.0000	174.00	E
Plug	1.00	EACH	23.0000	23.00	E

All Prices Are Net, Payable 30 Days Following
Date of Invoice. 1 1/2% Charged Thereafter.

If Account CURRENT take Discount of \$ \$\sigma 5\frac{\pi}{2}\frac{\pi}{2}\$ Payments:

ONLY if paid within 30 days from Invoice Date

2584.10

CK 2325.69 He 4/14/2 221.01

## ALLIED CEMENTING CO., INC. 4816

Federal Tax I.D

REMIT TO P.O. BOX-31

SERVICE POINT: **RUSSELL, KANSAS 67665** OAKZEY RANGE W 1-30-01 CALLED OUT JOB FINISH PM ON LOCATION JOB START 3:15 PM COUNTY LOCATION ##1/ CITY 65-6W-2N-14E WELL# **LEASE** OLD OR NEW Circle one) APS 15.005.22813.00.00 PROduction CONTRACTOR OWNER SHME TYPE OF JOB 3920' **HOLE SIZE CEMENT** T.D. AMOUNT ORDERED 190 5Ks 60/40 Poz 62661 **CASING SIZE** DEPTH **TUBING SIZE DEPTH** 4/2 DRILL PIPE DEPTH 2050' TOOL DEPTH PRES. MAX **MINIMUM** COMMON SKS MEAS. LINE **SHOE JOINT** POZMIX \_ 5Ks CEMENT LEFT IN CSG. 516 GEL PERFS. CHLORIDE @ 48# DISPLACEMENT \_Flo-Sect @ @ **EQUIPMENT** @ @ TSPRY **PUMP TRUCK** CEMENTER\_ WAYWE # 300 **HELPER** HANDLING 202 SKs @ **BULK TRUCK** 44 Dr SK/Mile MILEAGE # 218 DRIVER LONNIE **BULK TRUCK** TOTAL 1,938 64 DRIVER **REMARKS:** SERVICE 25 3Ks 2050 100 5Ks 2050 DEPTH OF JOB 40 5Ks 300 PUMP TRUCK CHARGE 165Ks **EXTRA FOOTAGE** @ 15 5Ks 58-miles MILEAGE PLUG 854 @ @ THANK YOU @ TOTAL CHARGE TO: RON'S OIL OPER, INC **FLOAT EQUIPMENT** STREET CITY\_\_\_\_\_STATE \_\_\_\_ZIP\_\_\_ @ @\_\_\_\_ @

@

## ALLIED CEMENTING CO., INC.

P.O. BOX 31 RÚSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

INVOICE

Invoice Number: 083284

Invoice Date: 01/24/01

Sold Ron's Oil Operations, Inc

To:

P. O. Box 112 Penokee, KS

67659

APE 15.065.22818.00.00

Cust I.D....: Ron's

P.O. Number..: Nickelson #13

P.O. Date...: 01/24/01

Due Date.: 02/23/01 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
0	99.00	SKS	6.3500	628.65	Е
Common	66.00	SKS	3,2500	214.50	E
Pozmix	3.00	SKS	9.5000	28.50	Ε
Gel	- 00	SKS	28.0000	140.00	E
Chloride		SKS	1,0500	181.65	
Handling	173.00	MILE	6.9200	401.36	
Mileage (58)	58.00	MILE	0.3200	401.00	_
173 sks @\$.04 ]	per sk per mi	700	470.0000	470.00	E
Surface	1.00	JOB	3.0000	174.00	
Mileage pmp trk	58.00	MILE		45.00	
Wood plug	1.00	EACH	45.0000	45.00	£.
All Prices Are N	et, Payable 30 Day	s Following Sul	ototal:	2283.66 <b>0.00</b>	
Date of Invoice.	1 1/2% Charged Th	# 6 7 7% 37 Par	yments:	0.00	
If Account CURRE ONLY if paid wit	NT take Discount o hin 30 days from I		tal:	2283.66	

ck 4/4/ 2055,29 Pet 7eb 21,01

## ALLIED CEMENTING CO., INC. 5121 Federal Tax I.D. 5121

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665					SERVICE POINT:				
NOO.				·	Tovrogation	JOB START	TOD EINIGH		
DATE 1-24-00	SEC.	TWP.	RANGE	CALLED OUT	ON LOCATION		JOB FINISH		
, ,	WELL#	1 3	LOCATION	Pensker 351E		COUNTY	STATE		
OLD OR NEW (C		· · · · · · · · · · · · · · · · · · ·	Location			Charles			
	A 1 A								
CONTRACTOR	434			OWNER			<del> </del>		
TYPE OF JOB SHOLE SIZE	12 /2	<u>₹</u> T.]	0. 762	CEMENT		1.01			
	8 %		EPTH	AMOUNT OR	DERED 165	6940 3	200		
TUBING SIZE	C. 26		EPTH			Z	891		
DRILL PIPE		DI	PTH				<u> </u>		
TOOL			EPTH	<del></del>	44	, 35	62865		
PRES. MAX			INIMUM	COMMON	99	@ 63 <u>5</u>	6/8 =		
MEAS. LINE	1.000	SF	HOE JOINT	POZMIX	<u>66</u> 3	_@ <u>_ ३</u> <u>४</u> _@_ १ <u>५</u> ०	21459		
CEMENT LEFT II	N CSG.			GEL	<u> </u>	_@ <u>_956</u> _@_28.º\$	28 €		
PERFS. DISPLACEMENT	•	15 1/3	<i></i>	CHLORIDE _		_@ <u></u>			
DISPLACEMENT			•		<del>, , , , , , , , , , , , , , , , , , , </del>	_ @			
	EQU	UIPMEN'	1			_			
	OF1 (F1) (7	116 000	. (						
PUMPTRUCK # 345	CEMENT HELPER	EK_W	<u> </u>			@			
BULK TRUCK	HELFER		Bill	HANDLING_	173)	<u>@ 702</u>	78182		
# 1ko	DRIVER	4	C. Carrie	MILEAGE	44/54	WIE	401 34		
BULK TRUCK			~ W 1.		'		46		
#	DRIVER	·				TOTAL	1594 E		
	RE	MARKS:	:		SERVI	CE			
		A		DEPTH OF JO	D	· · · · · · · · · · · · · · · · · · ·			
Cen	Cus.	<u> </u>		PUMP TRUCK		1 1 1 1 1 1 1 1	470∞		
				EXTRA FOOT		@			
				MILEAGE	58,	@ 3 =	17400		
			****	PLUG 😤	B WOUR	@	45 €		
			<del></del>	<del></del>		_@	*****		
			<del></del>			_@	<del></del>		
		f				ТОТАТ	689 <u>°</u>		
CHARGE TO:	Jons	<u>لمرار</u>	المحدوث			·			
STREET			V		ELOAT FOU	IDMENIT			
		34.77		<del></del>	FLOAT EQUI	ILIATE/IA I			
CITY	ST	AIE	ZIP			@	·		
						_@			
						- @ @	*		
To Allied Cemen	ting Co.	Inc.		-		@			